Class:

Pre - algebra

Solve for the variable.

"0xy=0 “8-1y=2
P 63=yx9 Ybo-y=7
> 5-3y=2 > 4=22-6y
" 2=y--1 b=y x-2
*0=9-y “10=8-y
"0=21-7y *2=5y-8
Py-1=8 "y —-4=3
5 4=y_5 5y =4
" 1ly-1=5 % 2y-5=3
2=y x6 ©9=9--3y
=1y --2 2 8-y=6
“3=8-y yx9=27
%y x0=0 %.4=9_y




Name: Claoss:

Pre - algebra

Solve for the variable.

"Oxy=0y=38 > 8-1ly=2y=6
S 63=yx9y=7 Ye-y=7y=-]
>5-3y=2y=1 “ 4=22-6yy=3
"2=y—--1y=1 S b=yx-2y=-3
*0=9-yy=9 Y 10=8-yy=-2
"0=21-7yy=3 % 2=5y-8y=2
Py-1=8y=9 “y—4=3y=7
Y 4=y-5y=9 O by—6=4y=2
T 1ly-1=5y=56 2y -5=3y=4
P12=yxby=2 9=9-38yy=0
Tl =1y=-2y=-] #?8-y=6by=2
#3=8-yy=5 yx9=27y=3
>yx0=0y=56 *6=9-yy=3




